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Name ................................................................... CIass PERX] Date
9 l14x0= 3 | 72=
3|1-07= 4 | 210 =210 000
B |7=35<+ G | 4896 + 9 =

. 4 .1
= X 10 = 29 -+ 31 8| t+q5=
9 = (14+8) + 11 10| 3 x5 =
11 | 864.233 + 100 = 12 —ff+%m

o

13 |6+4x2= 14| 5 of32=
15 = 30% of 120 16 | 6 % = 8958
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Summer Test 1 (continued)

7 |7+t6+-3B3X2= 18 | 73648+ 976 — 2785 =
9 | 5 = 6480 +~ 28| 7005 — = 1657
29141585 22 = 5% of 80
23(6+3Xx3-1= 24173 -9725+86=
265357665 @marks) | | DR | 16 = + 2.815
9384
27 % 57 (2 marks) 28 [ 872
' 3
Total marks /30
_ J
How well did you do? [Zwithcorred place value |18 [24]26
Colour the numbers of the — with zeros 20
questions you got correct. +orxby10,1000r1000 1410
Long x and long + 25§27
+ with decimal remainders | 2128
Fraclions glwli2|4
Percentages of amounis 15122
Missing numbers 41517116]19]20]26
Brackets and BIDMAS 9 |13 [17]18] 23|24
+ - 7189 |12]w3]i7]18]23]|24
- 3 118]20]23] 2426
X 12 1weliafia]15{17]22123]27
+ 4|56 79nhalislefiz]9]21]22]|25]|28
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